HEEfHT BEH

2016.04.13

B Ua,b) B X CER N(u,0%) OBIEHE E[X] L8 VIX] 2Kk &

(88) (1) #5316 U(a,b) OMERFERE f(2) 13 a <2z <b OHEPFTIE f(z)=1/(b—a) THH, ZOfth
DTl (@) =0 THEMS,

b 2 2
1 b* —a a+b
E[X]_/af”‘b—adx_ub—a)_ 2
b 2 31° 2
B a+b 1 B 1 a+b _ (b—a)
V[X]_/a (x 2 > Iy Km 2 ) D)

Lhh. (2) M N(u, o) OHEREEBIB f(z) 1

1 _ (=2
T) = e 20
f(z) o

THY,

DI VEDZ LIHERT B &,

+oo +oo
X = [ o f@di= [ Ao dn) fo)do

— 00

+oo +oo
——ot [ p@dosu [ fe) =0 [f@ T s pe 1=

— 00

/ Tl @) e = —o? / :O(fcu) () da

PEOEND, =



